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⑭Work#8 today v = limsupayac
* log X

A301 : Assuming the Riemom 5 linguX
hypothesis, 4= x +Olog Thus si o as converges

to
Exercise: Assuming the Riemann hypothesis , in analytic function for or
show that E(x1 = X + 0(log2x) and

Since che) has poles of all nontrivial
(x) = lik + o(logX)

. 200s of 92s)
,

we conclude that

Proposition : If 4(x) = X + 0, (x
**) 32s) to for ofEl

for all E30 , then the Riemoun hypothesis Remaki So RHis equivolatto "the PNT
holds- -

error tenrs(ish". In fact,
Brof: Consider

↑-xx
*

+for distoRHE
als) = (A(n) -1)nS =2(s) -3(s) ,

↑X Elog ·

and let =[AG+ -x +O

+



1
-

Exercise; LetH desite the Coul14 .
2 : For T32

,

issection that ECsO for - 2 :

Prove that
NL= losS

↑ -XX
*** for every is Prof uses Stirling'sformch (Thmc. D.

=> C-RH -↑-** log2x
. Exercise: Verify that both sides ove

Recoll that jump discontinuities of integral

NCT) = Enontrivia zeos p
= p +i of J(s)

:

size o ordinatesT of zeos of T(s)·

ocp21 , OUSTY or NEELNCE-NLT) We've seen o JLs) long&
,
and so

Glory14.3
:

Also define
SLT)= org3(+ iT) . NE)=o +Ol

Theorem14. 1 : For30 , Exercises Deduce from
this that

NLT) = Forg[in NLTH -NL logTo

+SLT) + 1 . Croybe Mean Volue Theory

-will por Tuesday


